The cost (C) of hiring Polly the Plumber is shown by the equation C = 100 + 50n, where n is the

Representing Linear Functions in Different Ways

number of hours that she works.

a)

b)

d)

f)

Complete the table of values.

Hours Cost ($)
0

1

DN B W

Create a scatter plot and draw a line of best fit.
Is this an example of direct or partial variation?

State the initial value.

Determine the rate of change.

Describe the way that Polly gets paid.

Cost ($)

700

600

500

400

300

200

100

4 6
Hours Worked
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Complete the missing parts of each of the following:

Z The cost of hiring Mary the Mover can be shown the following ways:

=
2 Mary the Mover charges a g
a. i g=
= transportation fee of $150 plus g
3 $100 per hour. el
A
Hours Cost ($) 800
T00
600
__ 500
() = % 400
= o
§ g 8 300
200
100
0
0 2 4 6
Hours Worked
3 The cost of hiring Ernie the Electrician can be shown the following ways.
=
S =
g= S
A= g
3) =
% i
A
Hours Cost ($) 400
0 75 200
1 100 =
o = % 200
= o
§ 2 125 g S
3 150 100
4 175
0
5 200 0 2 4 6
Hours Worked
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\’g The cost of hiring Larry the Lawn Guy can be shown the following ways:

=
.2 g
. =
8 g
)
Lawns Cost ($) 160
140
120
__100
&
L = % 80
) = 8
< = 60
= @)
40
20
0
i} 4 3 10
Lawns Mowed

g- The cost of hiring Brian the Babysitter can be shown the following ways:

=)
] =)
g S
N
= < C=5n+20
15} =]
: g
A
160
Hours Cost ($)
140
120
__ 100
oA
2 £ &
= S © s
= @)
40
20
0
2 4 ] 10
Hours Worked
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Representing Linear Functions in Different Ways

The cost (C) of hiring Polly the Plumber is shown by the equation C = 100 + 50n, where n is the
number of hours that she works.

a) Complete the table of values. 700
Hours Cost ($)
0 lce | weosSelw ,
~., 7
1 150 | teo+ 5600 600 Z!‘
2 ‘:?AJ\./ ;"’7
3 250
{ d 4 36}{’: M\ oy 500 4
+¥ i‘w 5 56;’\2 FE A ;’j
b) Create a scatter plot and draw a line of best fit. 400 /
/{'
c) Is this an example of d1rect or partial variation? @
Porrial 8 ‘
d) State the initial value. o /
SP | C,CF oL 300
I;;,
e) Determine the rate of change. ¥
Vi
A ’g
1 Rote= A o] ¢
[}.:1: /
B & W
T
4 wod.
56/ heur
f) Describe the way that Polly gets paid. 0
0 2 4 6 8 10
$ i C;“ oo _%__*,_, Hours Worked

P {"} % ‘wmrl
bioke o, heouse call
pm% $5000 per hour.
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Complete the missing parts of each of the following:

1 The cost of hiring Mary the Mover can be shown the following ways:

o
% Mary the Mover charges a 5
I e | §| C=150+ 100
o
Hours Cost ($) 800 T )’ , .
700 —* ;
o | 156 - B S
2 2350 oo} -
2 . = :‘-.: 400 > B
—E Li' 55{: § 8 300 !/
3 156 g I
0 ‘ : : —
15 WEC o 2 4 6 g 10
A Hours Worked

i
use scale on graf:ﬁ\ +o choose. dhes €

3 The cost of hiring Ernie the Electrician can be shown the following ways.

o | Ernie charges aw
2 | imtal feeV ol 75| 8
) \ 4 n= g C""Mi’%*zg‘*""
| Piwe 325 per hour | £ - ‘
O o3}
A
Hours | Cost (3) o | -~
10 s ] N o~
+1 3y 1 100 4 +25 ‘ "
2 2 125 '§~ g
~
3 150 © 0
4 175 :
04— i ' 1
5 200 0 2 4 6 8 10
Hours Worked

EG}&"Q,:A = .2m§. = 3 /
Ak s 25/ he
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H The cost of hiring Larry the Lawn Guy can be shown the following ways:

}

gThe cost of hiring Brian the Babysitter can be shown the following ways:

|
5 L?} \’"‘F“y C‘{‘\C)»FG\G’ )
'5 O
B L5 o ﬂuﬂ"‘v = t
Bl 2O P 2| C=0+20h
O [83)
a
Lawns Cost (3) o j yal
140 z
/] O C} -~ i
41 120 é
S\ >0 /}+2@ o A
o) = % 80
3 2 4G § 8 &
E. 6O “i— _
i RC " ‘
% IC}Z ’ i L.av:nsMo:ved 1'0
RQ.'\"@?" '-“*“é == ;ﬁ{f

« | Brian c,’r“am"% ar | _
% iniHal Yee of 20 § C=5n+20
2 o
Bl plus $5 per hour|=
Hours Cost ($) 100
’ 140
O 20 120
2 ‘%O «3100
2 Y 40 e 3 -
= é) 50 (s 0
% 0 i ‘
0 | 1C e
Hours Worked
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